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+ Introduction to Language(by Fromkin) 2] *Z} chapter ¥ 9424 =0

tutoring)

or Linguistics for Non-linguists(by Parker & Riley)?] 2zt chapter

== )
=

AL BA Zo|

ror YR Jolet AR 2 A
1. Constituency Test
Movement
Substitution.
2. Transformation
Preposing
Topicalization-Dislocation
Passivization
Wh-movement
Though-movement
Negative-movement

Postposing
Adjunction-Substitution
Right-Dislocation
Heavy-NP shift
Extraposition-Adjunction
It ~ that

3. Raising, Tough movement, Control
Subject-to-Object
Subject-to-Subject
Raising, Tough, Control

o
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4. Government and Binding

X-Theory
(CP, IP, TP-structure.

VP-hypothesis, NP-hypothesis, vP-shell Hypothesis)

Case -Theory

Binding -Theory
Control(PRO)-Theory
Bounding-Theory
Theta-Theory

Government

Cyclic Movement

XP movement—X movement

5. Types of verbs

Try-type

Seem-type

Tough -type

Believe vs Persuade

Prepositional Verbs/Phrasal Verbs

. School grammar

. History/Phonology

Basic concepts

Phonological rules.

. Morphology

. Semantics/Pragmatics etc

Sentential Semantics

10. Pragmatics

Entailment/presupposition/Implicature/Speech Acts, etc.

o
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5-64. 94 5%
WA} : Transformational Grammar by Andrew Radford

(or Syntax and argumentation by Bas Aarts)

7} chapter ' AFFA 0| +

B 9 A}: Teacher's Grammar(Ron Cowan) -- School Grammar
B W A): Student's Grammar by Quirk and Greenbaum

7~894. 712&A E°l € 7|& 21 A F0]
+ Andrew Carnie?] Syntax 2] *Z} chapter ¥ A& EA]

fulks
=3

9~10¥. Aoy wonAl BA|(83]) Zo]
+ Linguistics for Non-linguists®] *ZI' chapter ¥ A&EA] Z0]
or Introduction to Language(by Fromkin) 9] *ZI chapter ¥ H&3A] Z0]

114, 3|5 A7 RouAH2~339])20] R #5743,
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obg Adsfo} gttt 53], StwolA Bje o2k A|Ro] kA FAEE AL WEA X
ol A 2o wz} Zojolsttt E35] o2 S, 2018W EALR EA4] CPeF TPY 7jdo]
ol 20210l = E gttt o] FA|= YutA o202 E2 1l sfAl= QF Erh HEEA]
R0l A RA|St 2 whatof Stot
(2014-2021'1) Fojgr FgAH 7|&FAH
& 5 BAZ/YEY | e8%/e2E | FHE | 9 | 8E
o 3 [ olv " [¢] T o
w3 | JIEds (26241 (182l | @BA) | B | (2ZA)
2014 32 154 15
2015 32 28R
2016 327 22A 124
pol=s 2017 42A 2A
(8074) 2018 427 324
2019 327 32|
2020 32 32| 124
2021 327 22A 155

(1) 2015926 Hof£7)7} HA|= . chalo] ot vhzol
(148—1974)

2AHEe] olgo] BAI7L ZeE D 9
I 1248 HE SAHHt 20214

]

ol

[ 2 5—
VS
“

2

S|
=1

ol &
IS}

o},

(2) 719F=A7t 28 AM Maed Hidol =

]

5t

O.u.;

s O

AAA ol

2|

g, ojulE, S8EEA
o] st &A=t

=

CECON

o

qefdel A YHE IE WE Y -y -

h44-3169 ssam.willbes.net




o|H|¥: kimykook2@naver.com

f
>
il
rlo
rE
ogk
=l
)

Transformational rules)i} GB-Theory HAl0 2 71AF 712X 0Q] o]&2
= ¢A35] olafiste] Aol A&sh= 52 viYsliorettt. 2014-2021d 7| E2AE A
3 & Atg5 AmHEWH, Chomsky ¢ BG o]29]l X-bar theory, Case-theory, binding
theory(c-command, smallest domain), O-theory (0-role) 72 o]&2o] AKX 2xlo
of@7 A&o] E=rtg 20ie FF S0 AR ot 1 9] stwFHo] Teacher's
Grammarl} Student's Grammar?l 242 JA =S 7]¥toz e 1 Qict mala Aul7]o
713 U&s & mofsto] &X|stal ey7]ol= Ao A&shs AdE5S FolE BEIASE
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rrore

o
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g deHNE (F8)
« An Introduction to Language (Fromkin)

e Linguistics for non-linguists (Parker and Riley)

« A Course in Phonetics (Ladefoged)

» Applied Phonology (Yavas)

« English Syntax and Argumentation (Bas Aarts)

» Transformational Syntax (Andrew Radford)

» Syntax: A generative Approach (Andrew Carnie)

« A Student’s Grammar of the English Language (Quirk and Greenbaum)
» The Teacher’s Grammar of English (Ron Cowan)

» The Grammar Book (Marianne Celce-Murcia)

[Foleh 2021 Y] 7]&&A Eol]
20209 12 Al 2:A] HE A

29 FHE 7193

[&] conversion(box(HAH -box(=-A})), un+box(derivation),

unbox+ing(inflection)

3 FAE - 7193

[2] complement

6
In 'chocolate' and 'nationalize’, [8] can be deleted.

rE
dlo

o
e

The foot structure having a stressed syllable followed by a stressless
syllable is most preferred in fast speech.

0]& - Sww(chocolate)l} SwwS(nationalize)o| A8t 7120 wS A2k 71=.
ofetA] GolofAls Sw ehe PA9) footg MEsTIL & & otk

ZFR - respirate(SwS), glorify(SwS)2tA wS A2kt 271 Qich

o amviz] 1544-3169 ssam.willbes.net
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TH BAME

[&] The verb type of the sentence in (i) in <B> is intransitive which allows for
locative inversion and the sentence is grammatical but the verb type of the
sentence in (ii) in <B> is transitive which does not allow for locative inversion

and the sentence is ungrammatical.

[Fojst 2021 dTjH] 7|&FA] Zo0]]
20208 1xF AlE 3uA] A3 B

49 IEE
[€] The underlined /ou/ is realized as [o] in (b) and (d) in <B>. The
generalization in (3) is should be revised as: /ou/ is realized as [o] only

il g

when it is close to /1/ and they are both in the same morpheme.

5. A2

[2] (i) is ungrammatical because Adverb Phrase 'persuasively’ and CP
'that-clause' cannot be conjoined. (iii) is grammatical because CP 'that
~' can be in the focus position of the Wh-cleft sentence.

o amviz] 1544-3169 ssam.willbes.net
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1. Read the passages and follow the directions. [4points]
<A>
There is some evidence from sentences like (1) below that inverted

auxiliaries in main-clause yes-no questions occupy the head C position of
CP in English:

(1) speaker a: What were you going to ask me?
speaker b: (a) If you feel like a Coke
(b) Do you feel like a Coke?
(¢) xIf do you feel like a Coke?

The fact that the inverted auxiliary do in (1b) occupies the same pre-subject
position (in front of the bold-printed subject you) and the fact that if and do
are mutually exclusive (as we see from the fact that structures like (lc) are
ungrammatical) suggest that inverted auxiliaries (like complementisers)
occupy the head C position of CP. This in turn means that main-clause
questions are CPs headed by a C which is interrogative in force by virtue of
containing an interrogative force feature which can be represented as
[Int-Force]. Interestingly, an interrogative main clause can be co-ordinated
with a declarative main clause, as we see from sentences like (2) below:

(2) [I am feeling thirsty], but [should I save my last Coke till later]?

In (2) we have two (bracketed) main clauses joined together by the
co-ordinating conjunction but. The second (italicised) conjunct should [ save
my last Coke till later? is an interrogative CP containing an inverted
auxiliary in the head C position of CP. Given the traditional assumption that
only constituents which belong to the same category can be co-ordinated, it
follows that the first conjunct / am feeling thirsty must also be a CP:. and
since it contains no overt complementiser, it must be headed by a null
complementiser. This means that all complete clauses contain an (overt or
null) complementiser.

However, Execeptionally Cased Marking complement clauses like 'believe'
seem to be TPs which lack the CP layer found in complete clauses, and for
this reason they can be considered defective clauses.

Don't forget that conjoined clauses or phrases must be the same categories.

o amviz] 1544-3169 ssam.willbes.net
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<B>

time.

(i) I want Mary to come to Japan and for her to see my parents.
(i) We didn’t intend you to hurt him or for him to hurt you.
(iii) I will arrange to see a specialist and for my wife to see one at the same

(iv) They wanted him to be innocent.

Identify and explain the ungrammatical sentence(s) in <B>, referring to

the passage <A>.

A 39 T dole
MedgaR = %
[Answer] (ii) is ungrammatical. The clause 'you to hurt
him' is a TP and the clause 'for him to hurt you' is a
T e CP. This violates the restriction the conjoined clauses
o must be the same categories.
(i) Aol A grom 4mg &0t BE A4
(i) I want [CP @ [TPMary to come to Japan and [CP for [TP
her to see my parents].
(ii) *kWe didn’t intend [TP you to hurt him] or [CP for him
to hurt you.] oJ7]A intend= believe &Y = HOJ
- clausex= TPZ null complementizerS ZF|s}X] =t} €iH
pom want 989 T WHEA] fors FFtTh 1eih] SAl0] AoiA
g 2t gt
(iii) T will arrange [CP o[TP to see a specialist]] and [CP for
[TP my wife to see one at the same time]].
(iv) They wanted [CP & [TP him to be innocent]].

amviz] 1544-3169 ssam.willbes.net
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1. Read the passages and follow the directions. (4points)
<A>

More generally, the null complementizer analysis would enable us to arrive
at a uniform characterisation of all finite clauses as CPs in which the force
of a clause is indicated by the force feature carried by an (overt or null)
complementiser introducing the clause. Empirical evidence in support of the
null complementizer analysis of bare complement clauses like the bracketed
clause in (1) comes from co-ordination data in relation to sentences such

as:

(1) We didn't think [he had resigned] or that he had been accused of

corruption.

In terms of coordination principle that the coordinated phrases or clauselL
must have the same form, the clause [he had resigned] must be a CP
because the sentence in (1) is grammatical and the that-clause is a CP.

The possibility of the deletion of the complementiser is due to the structure
of the clause. For example, the complementizer cannot be deleted in the
focused position and Exceptionally Case Marking constructions such as

believe-type infinitives cannot allow for any complementizer.

<B>

i) What she wanted was for him to apologize.

il) What she wanted was him to apologize.

iii) I will arrange to see a doctor and for Mary to see one at the same time.

—_ o~ —~

iv) We didn't intend you to hurt him or for him to hurt you.

Identify and explain the ungrammatical sentence(s) in <B>, referring to
the passage <A>.

o amviz] 1544-3169 ssam.willbes.net
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(ii) is ungrammatical because the comelementizer for
must be present in the focused position in (ii). (iv) is
ungrammatical because the ECM verb intend cannot

o

—

oAl

e}
:

take the complementizer for.

()o) Mol row 28 Zch.
(i) 4ol Fow 28e Fct

A 71# L R

Qolmaol 087} e Al 0.284 ZASL A VA 7

Aot

(i) What she wanted was for him to apologize.

(ii) *What she wanted was him to apologize.

(iii) I will arrange to see a doctor and for Mary to see one at the same time.
(iv) *We didn't intend you to hurt him or for him to hurt you. --> We didn't

intend you to hurt him or him to hurt you.
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4. Read the passage and answer the questions. (4 points)
<A>

Consider (1) and (2) below:

(1) That the film ended so soon was a shame.

(2) It was a shame that the film ended so soon.

We can move (extrapose) the clause that the film ended so soon from a
clause-initial to a clause-final position, as in (2). The pronoun it is inserted
in the position vacated by the subject clause. This movement establishes the
constituent status of the subject clause. And Extraposition from NP seems to
be more acceptable if the verb phrase is relatively light; for example, if it
consists of an intransitive verb or a raising verb. Also the extraposed

elements must be a constituent.

<B>

(i) We employed two people last week from European Union countries.
(i) Three men noisily left the theatre who were drunk.

(iii) Six women on their heads appeared with yellow hats.

(

iv) The dogs escaped that were chained to the house.

Find out the ungrammatical or unacceptable sentence(s) in <B> and explain the
ungrammaticality, referring to the passage <A>.

=¥ 53 % Ui =X 29 T dole
47 Fojst - Q] 3

(ii) is ungrammatical because the verb is not an

oAl ot intransitive verb or a raising verb but a transitive verb.
(iii) are ungrammatical because PP with yellow hats is not
a constituent.

AqH 71x (ii), (iii)o] Mol grow Zrzk 244 Frf.
(iil) GOl B 277 Z Al 02784 AASHL 2o 17K T 478 gho.
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